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1.1.1 Windows
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[brew install python3 )
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1.1.3 Linux
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#C
if (a % 2 =01

printf ("The variable a is an even number.\n");

puts("exit");

# python
if a % 2 == 0:

print ("The variable a is an even number.")
print("exit")
# python (error)

if a % 2 == 0:
print ("The variable a is an even number.") # A V7Y FINTWLWAVWDTIT—IIRD
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[print("Hello World") # "Hello World Z#HAHd %, ]
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# coding: utf-8
print("Hello World") # "Hello World %t 79 %,
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# coding: utf-8

print("Hello Python!!")
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Hello Python!!
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C % Java TIFXEELE (int, short, long, ...), FEI/NISEE (loat, double) TU 7243, python3 T3
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int R 1,2 3
float | FEEINEAR | 1.2, 5.66, 0.11
bool EpZE e True or False
complex B 3.14j, 2.1j
str XEEF ”Hello”, ”Python”
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# coding: utf-8

print (type(123))

print (type("Mojiretsu"))
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<class ’int’>

<class ’str’>
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# coding: utf-8

a=5 # B

print (type(a))

s = "Python" # XF7I
print (type(s))
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# coding: utf-8

str B CTHAAD
n = input()
print(n)

print (type(n))

# int BTHAAL
m = int(input())
print (m)

print (type (m))

i = input("Input -->")
print (i)
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<class ’str’>
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<class ’int’>

Input -->hello

hello
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# C
int a = 1;
switch(a){
case O:
printf("a is 0.\n");
break;
case 1:
printf("a is 1.\n");
break;
case 2:
printf("a is 2.\n");
break;
default:
printf ("0K\n") ;

# python
a=1
if a ==

print("a is 0.")
elif a ==

print("a is 1.")
elif a ==

print("a is 2.")

else:

print ("OK") ;
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